Fun Activities
with Santa
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Rudolf's Christmas Stocking
N

Read the information below about
Rudolf. Can you tick four things you

think he would really like to have in “

his Christmas stocking? '
/

In winter, Rudolf's ears often feel very cold when he is pulling
Santa’s sleigh . In summer, the sun shines so brightly that
Rudolf's eyes become quite sore. Although all the other
reindeers’ favourite foods are carrots and apples, Rudolf
actually prefers parsnips and pears! When he is not at work,
Rudolf enjoys playing rugby with his friends. He also enjoys
cooking and reading. Rudolf does not like cars.
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Mrs. Claus loves Chocolate logs but I am on a
diet. I need to make a half size chocolate
log but I can't work out how much of each

ingredient I need to use. Please can you help

me?
/

For the cake For Santa's cake

4 eqgs

v

v

100 grams of sugar

120 grams of flour

2 spoons of cocoa powder

v

For the filling For Santa's filling

50 grams of butter

v

v

140 grams of chocolate

v

200 grams of icing sugar

180 ml of double cream

v
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gad about my reindeer and answer th

questions.

-

Reindeer (What they are like Skill
Dasher Cheerful Singing
Dancer Musical Dancing
Prancer Brave Football
Vixen Clever Magic
Comet Kind Reading
Cupid Lovable Story telling
Donner Jolly Telling jokes
Rudolf Shy Cooking
Blitzen Thoughtful Hide and seek
1. Which 3 reindeer would 1. Which of the reindeer
most enjoy performing in a might be good at baby sitting?
pantomime?
2 Which reindeer cooks 2. Which reindeer might be
Christmas Dinner for able to cheer you up?

everyone?
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carots

Karrots

carrots

donckey

donkey

terkey

turky

turkey

Rudolf is really struggling with his

spelling.

Can you help him to choose the correct

spellings for the words below.
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cracker

craker
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present

prezant

presant
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robbin

robin

wrobbin
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o Here's a Christmas word search for you
he to enjoy. All the words included are
oy things you might see in the North Pole
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Page 2

For the cake

« 4eggs

« 100 grams of sugar
» 120 grams of flour

« 2 spoons of cocoa powder

For the filling

- 50 grams of butter

« 200 grams of icing sugar —»

Comet

(o

Prancer

&

Blitzen

Vixen

Cupid

8|9
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26| 27|28 29
3637|3839
44| 45| 46 | 47| 48 | 49
54|55 |56 | 57|58 |59
Page 3 62| 63| 64|65|66|67|68|69
72|73|74|75|76 |77 | 78|79
80| 81|82 |83|84|85|86|87|88|89
90| 91|92|93|94|95|96|97 98|99
Page 4
For Santa's cake
—»  Zeggs
—+ 50 grams of sugar
— 60 grams of flour
——— 1 spoon: of cocoa powder
For Santa's filling
— » 2Bgramsof butter
« 140 grams of chocolate —————————— 70 grams of chocolate
100 grams of icing sugar
« 180 ml of double cream — . 90 ml of double cream
‘ Page 6
Donner
' Donner Blitzen Dancer
Scarf Sleigh Bells Carrots
Rudolf
Earmuffs Christmas Pudding Football
Dancer

Dasher
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Page 7

footballs 14

Barbie dolls 6

Toy cars

Teddy bears

A) CARS

B) 26

Page 9

wedding stocking

pudding

Page 8

L. Which 3 reindeer would 1. Which of the reindeer
most enjoy performing ina might be good at baby sitting?
pantomime?

Dasher, Vixen, Dancer, Donner,

Cupid, Donner.

Cupid.
2. Which reindeer cooks 2. Which reindeer might be
Christmas Dinner for able to cheer you up?
everyone?

Donner
Rudolf

Page 8 answers are open for
discussion with the children.

listening

dancing

laughing running
J walki
drinking "9
4 ki
driving cooring

The presents are opening their children.

The children are opening their presents.

making pudding I Christmas am a.

I am making a Christmas pudding,

polar The skating bears on are ice.

The polar bears are skating on ice.

red The car reindeer driving is a.

The reindeer is driving a car.
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Page 11 Page 12
4 B | Show your working out in the space below.
carots | [ cracker [ ]
| — ” A range of possibilities.
4 “' Comet should have been given 22p in change.
dorky | present v Comet was/was not given the correct change.
| ] [
donkey [ presant | [ ]
T ) N B
turkey [wrobbin | [ ]
Page 13
S N O W G O O S E
A c 17T I C F O X M
A c 1T I C W O L F O A
R E | N D E E R O L
Q U | R R E L S R
L M M | N G E U
w O L V E R | N E S
O L A R B E A R

17




